
72)
i Zlsolve 

the same

,#"..S?Y" the foilowing transportation problem for 
I,rB!*.I4,,:1!,ffi *cp,ne,,Rile,"J?urV;o.ilrif oiu;idffi ffi :*Hffi Tfi?,:tiffi t,

cost ln rupees of transporting a unit from a particular source to 
" 

prrti.riar oestinat;;. 
-' "' 

''

VD l\t'u uompany is engaged in manuracturinffirands of packed snacks. lt is having fivemanufacturing seiups each capable of manufacturlng ,rv oi iir [r".Jr #;; iir". ,," cost to make abrand on these set ups vary according to tne taoie oEr.*l 
''

ili#i*;iiffi orproducrsontheseJ;;;il;;;_h;;,i*l;#i[li;I#;1i];i;itiH,Ti

:
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Note: (1) ANSII ER ANY FIVE QuEsTtotts."'' ' iiiXii euESTtoNS cARRy EeuAL MARKS
Q',{-a solvelhe fgtlgltrjng Linear Programming Problemrgjven these constraints,and obiective function:

4X1+2X2 < 16
2X1-X2 < 2

(a) Graph the feasibte region

(c) ldentify the opfima{ sotution
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ffi ;6qru6;91i6,ffi i*i,s;l;:r:xir s ;:ll:;:Trbette'than usins chemicals to ritt *""0". Cn;ri.;ir ;;;;"il;il;, il'il"'**o. seem to srow fasterafter:'chemicals'haveibeeh usea ee'o r rpnte*pL"tiogil-;;;;r,,rrtil,;;;-ohine,tpl*nurd 
harvest,w99Q 'onnarow:rivers and waterwavs-. rhe ,ffi;;Jthitiii;a;ii.J iffiiiffi;"i,iiiitlip.i*"n,r,
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